
I l- 0:0:7:1 sdfr 130:208 active ready running
|  ' -  1:o
'-+- poli6y='1sund-robin 0' prio=1 status=enabled
l- 0:0:4:1 sdbf 67:144 active ghost running
l- 0:0:5:1 sdbp 68:48 active ghost running
l- 1:0:4:1 sden 128:240 active ghost running'- 1:0:5:1 sdex 129:144 active ghost running

360080e500017f2ea00001 10e4ba9eae8 dm-13 tBM,1814 FASTT
size=7. 3T featu res=' 1 q ueue_if_no_path' hwhand ler=' 1 rdac' wp= 11ry
l-+- policy='round-robin 0' prio=6 status=active
I l- 0:0:4:2 sdbg 67:160 active ready running
I l- 0:0:5:2 sdbq 68:64 active ready running
ll- 1:0:4:2 sdeo 129:0 active ready running
| '-  1:0:5:2 sdey 129:160 active ready running'-+- poligy='psund-robin 0' priO=1 Status=enabled
l- 0:0:6:2 sdca 68:224 active ghost running
l- 1:0:6:2 sdfi 130:64 active ghost running
l- 0:0:7:2 sdfs 130:224 active ghost running'- 1:0:7:2 sdgc 131:128 active ghost running

360080e500017f0e60000a5a04bab0007 dm-18 lBM,1B14 FASTT
size=93 1 G featu res=' 1 q ueue_if_no_path' hwhand ler=' 1 rdac' wp= 1r1y
l-+- policy='round-robin 0' prio=6 status=active
I l- 0:0:2:7 sdaj66:48 active ready running
I l- 0:0:3:7 sdax 67:16 active ready running
ll- 1:0:2:7 sddr 71:144 active ready running
| '-  1:0:3:7 sdef 128:112 active ready running'-+- policy='l'eund-robin 0' prio=1 status=enabled
l- 0:0:0:7 sdh 8:1 12 active ghost running
l- 0:0:1:7 sdv 65:80 active ghost running
l- 1:0:0:7 sdcp 69:208 active ghost running
'- 1:0:1:7 sddd 70:176 active ghost running

360080e500017f2c00000a3c74ba9d733 dm-5 tBM,1B14 FASTT
size=93 1 G featu res=' 1 q ueue_if_no_path' hwhand ler=' 1 fdac' wp= ;'1ry
l-+- policy='round-robin 0' prio=6 status=active
I l- 0:0:0:12 sdm 8:192 active ready running
l- 0:0:1:12 sdaa 65:160 active ready running
l- 1:0:0:12 sdcu 70:32 active ready running
'- 1:0:1:12 sddi 71:0 active ready running
-+- policy='rsund-robin 0' prio=1 status=enabled
| 0:0:2:12 sdao 66:128 active ghost running
l- 0:0:3:12 sdbc 67:96 active ghost running
l- 1:0:2:12 sddw 71:224 active ghost running
'- 1:0:3:12 sdek 128:192 active ghost running

dmesg (snippet of output)
Buffer l/O error on device sdcc, logical block 0
sd 0: 0:6: 8: [sdcg] Result: hostbyte=Dl D_OK driverbyte=DRIVER_SENSE
sd 0:0:6:8: [sdcg] Sense Key : lllegal Request [current]
sd 0:0:6:8: [sdcg] <<vendor>> ASC=0x94 ASCQ=0x1ASC=0x94 ASCQ=0x1
sd 0:0:6:8: [sdcg]CDB: Read(10):28 00 00 00 00 00 00 00 08 00
end_request: l/O error, dev sdcg, sector 0
Buffer l/O error on device sdcg, logical block 0
ASC=0x94 ASCQ=0x1
sd 0:0:6:6: [sdce] CDB: Read(10): 28 00 00 00 00 00 00 00 08 00
end_request: l/O error, dev sdce, sector 0


